QuizIV  General Chemistry I Lecture Fall 12 Dr.Hahn 20pts 10/11R 8:30 am A quiz #

Name t Chn Name
(print name) ' J (sign name)

Please show all work for full credit.
1. For the following reactants given the following balanced precipitation reactions (8 pts)

a. precipitation molecular equation (circle solid or aqueous for the two products) (2 pts each, 4 pts)

PbSOs (aq) + CaS(ag) & PbS [{s)or(aq)] (circle one) + Ca SO4 [ (5) o@] (circle one)

b. Give the complete ionic equation for the precipitation molecular equation above. (2 pts)

fbr2(ug) t S04 () + (—az(wg) ts Z(.zwg) —
0L Sy + Ca™Haq) + S04 (@g)

c. Give the net ionic equation for the precipitation molecu ar equatmn above. (2 pts)
Ph Cm{g) + S (@{}) > Pbs ()
2. HCl + NaOH= NaCl + H;O

For the reaction shown above, if you start the reaction with 35.5 mL of 0.25 M H Cl, how many grams of
Na OH will you need in order to get complete reaction? ( 40.01 grams NaOH / mole Na OH ) (4 pts)

5,50y 0L elbe - Inal Mol 4,019 ML . 05 55
W /000 ne (n-alfle [ el

S0\ (2 50/ Aa by
3. What is the oxidation state of  sulfur in HoSO4  Show work below. (4 pts)
h““, Gt )45 =F=0
~ AN ‘ s = Pe) = ’
2600 + S +4(-) =0 5= ¢
4. What is the volume of 1.5 mol of a gas at 280.2 K at 742 torr 7 Show wor, and show units for all

values for full credit. (4pts) fl//" V\E,T K‘,, Q O&ZOé vQ,
e LShel T=250.2k,

Ve %u - s %@C@,oyzog L




Quiz [V General Chemistry I Lecture Fall 12 Dr. Habn 20pts 10/11/12R 8:30 am B quiz #

Name . Name
(print name) o (sign name)

Please show all work for full credit.
1. For the following reactants given the following balanced precipitation reactions (8 pts)

a. precipitation molecular equation (circle solid or aqueous for the two products) (2 pts each, 4 pts)
Na;CO; (aq) + CaCla(aq) = 2NaCl [(s)or @] (circle one) + Ca COs @}or (aq) | (circle one)

b. Give the complete ionic equatlon for the precipitation molecular equation above. (2 pts)

2&& G +2&Q~ﬁzmATﬂx"+<hﬁ@@J
T tae G G )

c. lee the net ionic equation for the precipitation molecular equation above. (2 pts)
+7 e —L : + S
3. HCl + NaOH-> NaCl + H,O

For the reaction shown above, if you start the reaction with 20.5 mL of 0.15 M H Cl, how many grams of
Na OH will you need in order to get complete reaction? ( 40.01 gra.rns NaOH / mole Na OH ) (4 pts)

20.5m¢ x O/Sm%bﬁf< { hol Wall X 40,0l gk _

. > =(.(23
n | hod /N
o N 7 Nl

3. What is the 0x1dat10n state of phosphorus in H;PO, Show work below. (4 pts)
Ht, o »
13 + B2 ¢ =0 F= §-3=
2+ P-p<0 |
4, What is the volume of 1.3 molof agasat 2943 Kat 723 mmHg ? Show work and show units

for all values for full credit. (4 pts) PV=nnRT O, 08206 Jz Q/&r\
o, bheed ’ »dtgl
T= 2943k

P= Ol§mmﬁ/}x————aﬁ“aoqﬂg/m /2 n T
Y = (3W)(COE2%@%)(ZQ§W %}C}L
( 0.950 abo) C?@ 1




QuizIV General Chemistry I Lecture Fall 12 Dr.Hahn 20 pts 10/11/12R 9:55 am A quiz#

Name K‘Z’L}/ Name

(print name) & (sign name)

Please show all work for full credit.
1. For the following reactants given the following balanced precipitation reactions: (8 pts)

a. precipitation molecular equation (circle solid or aqueous for the two products) (2 pts each, 4 pts)

2K I(aq)+ Ag2S04(ag) > Kz SOs [(s)or ] (circle one) + 2 Agl or (aq) ] (circle one)

b. Give the complete i mmc equation for the precipitation rnolecular equation above (2 pts)
IR AN 304 ~ 210“% 30? + 2@ 5)
o ) g

c.  Give the net ionic atmn for 26 prempr[a{lon molecula.r equatlon above. (2 pts)

204%Coq) + 21 700g) — 2 Ay Z(s)

2. HClI + NaOH=> NaCl + HO

For the reaction shown above, if you start the reaction with 20.5 mL of 0.15 M Na OH, how many grams of
H C1 will you need in order to get complete reaction? (36.51 grams H Cl/ mole H Cl) {4 pts)

20.5 il x Q.1 sm@{Uerﬁa+ | ned | ¢(g ER

NaOW J 000 mL } ‘ < :O,“Z ",
90y Nealseln, Napy L el bt 4

3. What is the OXIdaﬁOI’l state of nitrogen in HNQO3;  Show work below. (4 pts)
h 0 | +M-6=0"
@) N+ (D320 N=(-1=9

4. What is the volume of 2.4 mol of agasat278.2 Kat 715mmHg _? Show work and show units

for all values for full credit. (4 pts) N [Z T — O O X& Oé _E Qﬁwj
n=4nel, T2 )7 Zk@:\ I ralk )

- '7/5m\u,% o -0. At o
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g (0.9% at)
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Quiz IV General Chemistry I Lecture Fall 12 Dr. Hahn 20 pts 10/11/12 R 9:535 am B quiz #
Name / CQ"':}/ Name

(print name) (sign name)

Please show all work for full credit.
1. For the following reactants given the following balanced precipitation reactions: (8 pts)
a. precipitation molecular equation (circle solid or aqueous for the two products) (4 pts, 2 pts each)

Pb (NO;), + Ca(OH); > Pb(OH), [@){)r {ag) ] (circle one} + Ca(NOs) [(s)or ] (circle one)

b. Give the complete i 10111(: equation for the precipitation molecular equatlon above (2 pts)

Pt 200y 4+ 2 kT ?LCOH)L‘{’Cﬁ e 2 M
Cug)  Cog) (o) (Cef) (s) (¢q) (a%)

¢.  Give the net ionic equatioh for the precipitation molecular equation above. (2 pts)

L‘ﬂ( 5?> + 2 e, }.J& Mﬁ) ) {FL(@ l‘L)l ( 9)

2. HCl + NaOH—> NaC(l + IO

For the reaction shown above, if you start the reaction with 40.5 mL of 0.55 M Na OH, how many grams of
H CI will you need in order to get complete reaction? ( 36. 51 grams H Cl / mole H Cl ) (4 pts)

4.5 % 0.55 ﬂ\d?\/aﬁl} LnsllU g o1 U
Nali ] 000 #4 /mou EVEES W’i‘” =

S5 ln >0l N
3. What is the oxidation state of sulfur in H, SO; Show work below. (4 pts)
SO Lts —b=

2y w5+ 32 = S (22 4
4, What is the volume of 1.9 mol of a gas at 288.4 K at 751 torr ? Show work and show units for all
values for full credit. (4 pts) é?vl ne l K:’#— O, O 5 20 Qﬁw
n=lqmef
T =2884k Vz he [
= f]?i&%%%,@ﬂw P
brv
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QuizIV  General Chemistry I Lecture Fall 12 Dr. Hahn 20 pts 10/11 R 830 am A quiz# 4 ‘—-Z}

Name Name
(print name) (sign name)

Please show all work for full credit.
1. For the following reactants given the following balanced precipitation reactions (8 pts)

a. precipitation molecular equation (circle solid or aqueous for the two products) (2 pts each, 4 pts)

PbSOs(aq) + CaS(aq) > PbS [(s)or(ag)] (circle one) + CaSO4[(s)or (aq) ] (circle one)

b. Give the complete ionic equation for the precipitation molecular equation above. (2 pts)

c. Give the nef ionic equation for the precipitation molecular equation above. (2 pts)

2. HCl + NaOH=> NaCl + H0

For the reaction shown above, if you start the reaction with 35.5 mL of 0.25 M H Cl, how many grams of
Na OH will you need in order to get complete reaction? (40.01 grams NaOH /mole Na OH ) (4 pts)

3. What is the oxidation state of  sulfur in HSOQ4 Show work below. (4 pis)

4. What is the volume of 1.5 mol of a gas at 280.2 K at 742 toxr ? Show work and show units for all
values for full credit. (4 pts)



Quiz IV General Chemistry I Lecture Fall 12 Dr. Hahn 20 pts 10/11/12R 8:30 am B quiz # 2 '"/ 3

Name Name
Tint name) sign name)
p

Please show all work for full credit.
1. For the following reactants given the following balanced precipitation reactions (8 pts)

a. precipitation molecular equation (circle solid or aqueous for the two products) (2 pts each, 4 pts)

Na;CO; {aq) + CaCly(aq) > 2NaCl [(s)or(aq)] (circle one) + Ca CO; [(s)or(aq) ] (circle one)

b. Give the complete ionic equation for the precipitation molecular equation above. (2 pts)

c. Give the net ionic equation for the precipitation molecular equation above. (2 pts)

3. HCl + NaOH-> NaCl + H;O

For the reaction shown above, if you start the reaction with 20.5 mL of 0.15 M H Cl, how many grams of
Na OH will you need in order to get complete reaction? (40.01 grams NaOH / mole Na OH ) (4 pts)

3. What is the oxidation state of phosphorus in H3PO4 Show work below. (4 pts)

4, What is the volume of 1.3 mol of a gasat  294.3 Kat 723 mmHg ? Show work and show units
for all values for full credit. (4 pts)



QuizIV  General Chemistry I Lecture Fall 12 Dr.Hahn 20 pts 10/11/12R 9:55 am A quiz# [ -‘“ap/

Name Name
(print name) (sign name)

Please show all work for full credit.
1. For the following reactants given the following balanced precipitation reactions: (8 pts)
a. precipitation molecular equation (circle solid or aqueous for the two products) (2 pts each, 4 pts)

2K I(aq)+ Ag2S804(aq) > Kz SO [(s)or(aq)](circleone) +~ 2 AglI[(s)or {aq) ] (circle one)

b.  Give the complete ionic equation for the precipitation molecular equation above. (2 pts)
c. Give the net ionic equation for the precipitation molecular equation above. (2 pts)

2, HCl + NaOH—> NaCl + H0O

For the reaction shown above, if you start the reaction with 20.5 mL of 0.15 M Na OH, how many grams of
H C1 will you need in order to get complete reaction? (36.51 grams H Cl/mole H Cl) (4 pts)

3. What is the oxidation state of nitrogenin HNOs  Show work below. (4 pts)

4. What is the volume of 2.4 mol ofa gasat2782 Kat 715mmHg ? Show work and show units
for all values for full credit. (4 pts)



QuizIV General Chemistry-] Lecture Fall 12 Dr. Hahn 20pts 10/11/12R 9:55 am B quiz # / - 2

Name Name
rint name (sign name)
p

Please show all work for full credit.
1. For the following reactants given the following balanced precipitation reactions: (8 pts)
a. precipitation molecular equation (circle solid or aqueous for the two products) (4 pts, 2 pts each)
Pb (NO3), + Ca(OH), > Pb(OH), [(s)or(aq)] (circle one) + Ca (NO3), [ (s) or (aq) ] (circle one)

b. Give the complete ionic equation for the precipitation molecular equation above. (2 pts)

c.  Give the net ionic equation for the precipitation molecular equation above. (2 pts)

2. HCl + NaOH—> NaCl + H;O

For the reaction shown above, if you start the reaction with 40.5 mL of 0.55 M Na OH, how many grams of
H Cl will you need in order to get complete reaction? ( 36.51 grams H Cl/ mole HCl) (4 pts)

3. What is the oxidation state of sulfur in H SO;  Show work below. (4 pts)

4, What is the volume of 1.9 mol of a gas at 288.4 K at 751 torr ? Show work and show units for all
values for full credit. (4 pts)



